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A: a
B: a
Q:
c: a
a
—2
—2 a
A (U )
B Q c
(H9) (L) (Hg/L) 40cm 1km
Al | 1058.9 | 30100000 561 0.00000626 | 0.0157
A2 | 7355 | 42300000 0.00000310 | 0.0078
A3 | 1399.0 | 16300000 0.00001526 | 0.0382
B1 | 4242 | 29600000 1.98 0.00000723 | 0.0181
B3 | 4975 | 11100000 0.00002258 | 0.0565
A4 | 3628 4730000 177 0.00004323 | 0.1081
A5 | 3205 8710000 0.00002075 | 0.0519
A6 | 376.6 | 21100000 0.00001005 | 0.0251
B4 | 2016 6310000 0.85 0.00003784 | 0.0946
B5 | 106.4 | 10400000 0.00001213 | 0.0303
B6 | 94.3 23900000 0.00000467 | 0.0117
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